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X & 0 827 83.1 85.9 0.8 0.9 E & 10 755 90.0/ 88.2 6.6 5.8
® H 0 910, 80.0 88.2 0.2 0.3 iz S 9 608 75.6 72.6/ 5.7 5.9
w x o0 1,109 90.6| 74.4 0.1 0.1 280 - 4 772 204.1 85.6 2.4 0.9
BB 0 725 - - 0.0 - B B 3 546/ 48.8 75.3 1.9 3.1
[= | 0 2,678 - - 0.0 - B ™M 1 618 64.8 T79.6/ 0.4 0.5
a 0 2,730 25.0 165.1 0.0 0.0 i 0 3,447 65.9 90.4 0.2 0.2
B B - - - - 0.0/ 0.0 [N 0 553 - - 0.1 -
# m 0 945 - - 0.0 -
B 3 46 1,064 93.5 107.0100.0100.0|# 3 1 591 69.3 97.80100.0100.0(# 3 151 691 79.1 80.8/100.0/100.0
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# M 113 186) 93.5 72.0] 56.8/ 57.6| ¥ 19/ 1,065 215.6] 110.6| 39.8 17.5| & [ 18 2100 87.0 95.8 32.9 24.2
B M 41 168 108.5 65.2 20.5 17.9| ~)— 11 953 52.1 104.7 23.3 42.3|#% = 12 229 91.5 118.5 21.6 15.1
2 4 21 161 77.4 64.0 10.7 13.1|+—2F3F 6 211 - -1 12.0 - | & # 10 226 64.1 91.0 17.8 17.8
T # 8 175 247.1 50.8 4.2 1.6|#% H 5 1,883 67.8/ 110.5 11.0 15.3|# & 3 269 25.6 114.3 5.3 13.1
* O 6 164 49.2 63.5 2.8 5.5|% F 3 1,806 T73.3 133.4 5.9 7.6|% & 3 204 226.8 144.4 4.9 1.4
iz S 5 158 167.2 62.3 2.6 1.5\ & 2 1,966 42.9 121.4 4.2 9.4|f &« 2 188 25.3/ 104.2 4.2 10.5
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z A E 0 1,083 121.4 96.0 0.2 0.2 74VFEV 0 522 63.6 93.7 0.9 1.4 #E) 2 213 77.1 116.7 3.1 2.6
s ) 0 147 - - 0.1 - | 0 2,068 41.2 116.1 0.5 1.2|#% & 2 209 45.3 80.3 2.8 4.0
R 0 599 160.0/ 95.0/ 0.0 0.0l % <A 0 1,446/ 39.3 174.3 0.4 1.0 F % 1 154 31.3 81.8 1.6/ 3.2
=)l 0 1,260 - - 0.0 - | B B 0 1,812 60.3 122.6/ 0.3 0.4|&E K 1 189 96.0/ 93.8 1.2 0.8
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F ) 30 411 52.8 84.2 6.8 10.9|%& B 1 486 75.3 99.1 2.8 3.5/ &F JI 1 1,073 92.6/ 114.3 6.0 4.7
X H 25 257 82.9 92.0 5.8 5.9|#% £ 1 398 93.1 72.7 2.7 2.7|® M@ 1 1,581 40.8 185.3 5.9 10.6
E K 16 300 89.6 101.3 3.6 3.4 % 4 0 411 - - 0.5 - | B # 0 3,316 97.4 84.2 1.0 0.8
BERE 8 362 51.1 160.6/ 1.9 3.1 % 0 175 100.0 66.7 0.3 0.2 *® 0 990 80.0 146.6/ 0.1 0.1
& M 7 349 107.8 83.9 1.5 1.2|®H = 0 343 128.6 108.9 0.1 0.1 % XK 0 1,308 50.0 144.6/ 0.1 0.1
TR N 6 173 953.4 89.7 1.4 0.1 B B 0 3,523 90.0 111.9 0.0/ 0.0
£ 6 2320 20.1 108.0 1.4 5.7 g F 0 1,260 44.4 120.0 0.0 0.0
s E 6 1191416.4 34.6/ 1.3 0.1 w x 0 1,418 100.0 171.4 0.0/ 0.0
= 5 191 - - 1.2 - r = - - - - 0.0 0.1
o0 20 3160 62.0 106.4 4.6 6.3 O fth - - - - 0.0/ 0.1
G 436 282 84.8 91.6/100.0100.0[# 3 23 428 94.2 T79.8/100.00100.0| % 3 18 1,306 73.1 135.3/100.0/100.0
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t B 12 294 88.3 105.7] 99.6] 99.9| & = 82 215 95.3 79.0/ 75.4 74.7|% ™ 3 235 80.3 67.4/ 53.9 47.4
7 & 0 745 - - 0.4 - | B B 12 169 129.5 74.0 11.2 8.2|3% #H 2 216 60.2 91.4 32.7 38.4
T ¥ - - - - 0.0/ 0.1 % 9 315 83.5 94.8 8.2 9.2 F ZE 1 257 66.4 T77.1 13.3 14.2
T ¥ 4 2000 T78.5 T79.4 3.6 4.3/ K % - - - - 0.0/ 0.0
B M 1 335 83.6/ 89.1 0.8 0.9
w E 1 241 31.1 106.2 0.6 2.0
B B 0 174 160.5 71.5 0.1 0.1
E B - - - - 0.0/ 0.6
B X - - - - 0.0/ 0.0
B 3 12 295 88.5 106.3/100.0100.0(# 3 109 219 94.4 80.0100.0100.0(# 3 5 2321 70.6/ 76.4/100.0100.0
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T # 54 793 73.7 97.5 78.6| 74.7| % 6 1837 98.2 99.4] 48.3/ 31.9| &% M 8 562 T79.7 87.1 98.9 99.1
F ) 8 744 56.0 103.4/ 11.6| 14.5| & 40 4 148 45.6| 106.3/ 32.0 45.6| F % 0 564 147.4 60 1.1 0.6
B 2 1,254 81.3 105.2 3.0 2.6|% & 1 85 57.4 111.4 5.5 6.2|45v% - - - - 0.0/ 0.3
B ™M 2 684 56.3 100.6/ 2.6 3.3 ERE 1 153 141.3 105.2 5.5 2.5|% H - - - - 0.0/ 0.0
* O 1 409 110.7 81.4 1.8 1.1|&F NI 1 158 333.3 121.1 4.5 0.9
= = 1 630 60.5 99.9 0.8 1.0 =& 1 126/ 35.7 100.0/ 3.7 6.8
B M 1 546 106.4/ 102.1 0.8 0.5 E & 0 189 9.3 144.7 0.6/ 4.2
[= | 0 802 - - 0.5 - |+ E 0 420 25.0/ 100.0 0.0 0.0
2O 0 315 5.6/ 109.0 0.2 2.2|% = - - - - 0.0 1.8
B B 0 554 58.7 93.5 0.1 0.1 % E - - - - 0.0 0.1
5 F 0 333 - - 0.0 -
B R 0 774 - - 0.0 -
B 3 69 787 70.1 100.1/100.00100.0| % 3 13 139 64.9 104.7/100.0100.0| % 3 8 562 T79.8 86.7/100.0/100.0
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[N 4 1,382 84.6/ 102.0/ 51.3/ 56.6] F = 2 466/ 53.5/ 103.9/ 59.1 64.6| # #E 0 1,303 59.7 102.2 76.4 84.4
WMk 1 719 83.3 98.6/ 15.8/ 17.7| M W 1 398 70.4 63.6 29.3 24.3|# & 0 1,576 108.3 99.2 13.3 8.1
O 1 1,012 90.1 131.8 10.3 10.7|% @ 0 549 52.2 89.7 7.1 7.9/ % @ 0 1,898 90.9/ 95.2 10.3 7.5
& 11 1,035 184.4 84.6/ 9.4 4.7|F% W 0 236 80.0 157.9 2.4 1.8
iz S 1 1,207 138.5 108.5 8.7 5.8/ K % 0 688 92.3 81.6/ 2.1 1.3
B M 0 1,029 75.5 114.7 2.1 2.6
B X 0 986 91.0 106.5 1.5 1.5
=)l 0 557 - - 0.4 -
T ¥ 0 966/ 200.0 158.6/ 0.3 0.1
B M 0 731 57.1 24.3 0.2 0.3
2O 0 700 - - 0.0 -
G 7 1,172 93.2 102.2100.0100.0| # 3 4 451 58.5 89.4[100.00100.0| % 3 0 1,401 66.0 103.4/100.0/100.0
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T # 24 464 91.1 94.9] 32.1 28.2| & A 819 368 84.1 106.3/ 17.9 18.1|E &K 491 375 76.9 122.1 34.1 35.8
| 22 716 94.4 88.9 28.7 24.4|E % 727 375 80.6 105.3 15.9 16.7| F #*¥ 351 335 84.7 107.7 24.3 23.2
£ 7 531 34.4 74.1 8.9 20.7|f &« 723 353 91.0 120.2 15.8 14.8| & #1 334 336 78.3 111.1 23.2 23.9
X H 5 495 86.1 100.6/ 6.0 5.6 F 474 359 82.3 108.7 10.4 10.7| % 111 335 99.9 107.6/ 7.7 6.2
B W 5 309 180.9 103.9 6.0 2.6] A% 349 118 79.0/ 93.9 7.6 8.2|% =E 91 380 90.1 115.9/ 6.3 5.6
w E 3 562 52.8 267.7 4.1 6.1 % 4 340 428 106.4 104.4 7.4 5.9|ERE 31 350 55.5 112.6/ 2.2 3.1
z oS E 1 810 105.3 89.5 1.9 1.5 % M 212 351 73.0 88.4 4.6 5.4\ % B 25 370 88.8 111.5 1.7 1.6
B M 1 1,261 71.0 97.1 1.6 1.8 ERE 212 312 108.3 88.9 4.6 3.6|#H K 3 604 48.7 140.7/ 0.2 0.4
7R N 1 894 90.1 103.1 1.6 1.4|%& ™ 131 378 90.8 116.8 2.9 2.7|® B 3 281 * 49.5 0.2 0.0
=)l 1 414 205.3 72.7 1.6 0.6|# K 113 384 62.7 149.3 2.5 3.4\ # 1 287 846.7 148.4 0.0/ 0.0
& M 1 304 104.1 114.4 1.1 0.9|#% = 94 376/ 86.6 117.5 2.0 2.0 % =K 0 707 40.2 221.4 0.0 0.1
o 1 1,593 121.5 60.7 1.1 0.7|% m 8 5 506 T72.4 126.6/ 1.9 2.2|% 4% 0 546 - - 0.0 -
o0 4 628 T77.7 76.8 5.4 5.5| Fofh 293 444 86.4 106.2 6.4 6.3
B 3 76 584 80.1 89.9100.0100.0|# 3 4,573 3560 84.9 108.4/100.0100.0[# 3 1, 441 353 80.8 114.2100.0/100.0
i P hr F B % =) 4, X v F - = = YA El
AF o 349 118 79.0/ 93.9 69.4 80.4|E K 14 477 82.8 96.8) 78.4 81.5| & Hn 354 342 83.2) 117.5/ 84.3] 82.8
IR E 130 283 147.5 97.4 25.8 16.0| F ZE 3 6611 90.0 77.0 15.2 14.6| % = 27 318 82.8 114.4 6.5 6.4
E B 13 58 - - 2.6 - | & # 0 344 557.6 T70.0 2.0 0.3|F W 12 527 99.5 105.9 2.9 2.4
s E 8 279 86.7 111.2 1.6 1.7 % = 0 286/ 604.7 81.8 1.4 0.2(%#H K 10 416 95.3/ 123.4 2.5 2.1
* O 2 105 252.1 26.0 0.4 O0.1|ERE 0 383 78.9 T73.4 1.3 1.4| % XK 4 350 87.7 109.2 1.1 1.0
g K 1 279 92.9 53.8 0.2 0.2/%F 4 0 328 139.2 83.7 1.3 0.8 % 3 357 20.7 117.4 0.8 3.2
B B 0 105 - - 0.1 - | & & 0 357 - - 0.4 - |+ E 2 491 104.5 118.3 0.5 0.4
iz S - 0 77 - - 0.0 - | = - - - - 0.0 1.1 E K 2 306 51.6/ 128.5 0.5 0.8
R & - - - - 0.0/ 0.7|% W - - - - 0.0/ 0.1 % 2 379 123.8 105.8 0.5 0.3
P - - - - 0.0 0.3|# #& - - - - 0.0/ 0.0 % & 1 364 270.3 79.3 0.3 0.1
RS - - - - 0.0/ 0.2 BERE 0 404 36.1 111.7 0.1 0.2
B R - - - - 0.0/ 0.2 SO 0 209 - - 0.0 -
Xk} 0 471 1.6/ 220.8/ 0.0 0.3
B 3 504 162 91.6| 103.4/100.0100.0| % 3 18 496 86.1 90.7/100.00100.0| % 3 419 348 81.6/ 117.4/100.0/100.0
i 4 Pl - N i=| 4, N W g7 i=] T O B 7
= A 1 1,146 105.8 93.6/ 95.5 96.5| & 41 8 3800 72.3 119.7/ 90.4 93.4|%® ™ 113 375 93.0] 118.1] 84.8/ 74.8
e A& 0 630 91.3 100.0 3.0 3.5 K 1 517 97.9/ 110.3 8.6 6.5|f =& 19 353 50.7 130.6/ 14.6 23.6
# M 0 338 - - 1.5 - | @ 0 603 - - 1.1 - | & H 1 301 - - 0.6 -
T ¥ - - - - 0.0/ 0.0 E K - - - - 0.0 1.0
r = - - - - 0.0/ 0.6
G 1 1,118 106.9 92.9100.0100.0| # 3 9 394 74.8 120.4100.0100.0[# 3 133 371 82.0 121.5/100.0/100.0
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=) 4, k¥ b = 4, SZhVY B 1= £ E—<v
e A& 557 355 88.7 134.8/ 45.5 41.2| % =& 140 335 116.1 74.1 36.3] 35.4| &K 116 3400 81.2 66.6/ 34.0 39.4
B M 253 388 105.2 119.9 20.7 15.8| & 4 86 544 111.4 79.8 22.4 22.7|& # 97 317/ 126.3 61.7 28.4 21.1
LN 99 371 60.7 152.2 8.1 10.7|E &% 53 428 117.2 76.2 13.8 13.3| 3% 78 378 86.3 T73.6/ 22.8 24.8
T ¥ 71 361 64.6 142.0 5.8 7.2 F ZE 45 494 104.5 79.2 11.7 12.6| ERE 49 345 99.8 69.6/ 14.2 13.4
| 69 495 66.1 132.8 5.7 6.9 & & 22 454 121.5 T74.4 5.8 5.4 K =X 1 995 160.3 146.0 0.2 0.1
" B 48 335 91.1 128.8 3.9 3.4|#% m 16 550 128.7 86.5 4.1 3.6|# & 0 376, 21.3 81.5 0.1 0.5
iz S 39 374 67.5 153.7 3.2 3.8|# & 11 454 131.2 T72.4 3.0 2.6|#% =E 0 334 - - 0.1 -
* O 16 373 22.3 93.2 1.3 4.7 fMEKWL 6 1,071 88.3 95.3 1.5 2.0 F % 0 526 28.00 94.7/ 0.1 0.2
B M 16 403 75.4 112.4 1.3 1.4|#& & 2 454 57.4 T79.4 0.4 0.9|% F 0 265 32.4 180.4 0.0 0.1
r = 15 565 82.8 111.5 1.3 1.2 KX % 1 425 83.6/ 64.5 0.3 0.5|diE#E 0 368 - - 0.0 -
E B 8 1,018 101.4/ 112.3 0.7 0.5|#H K 1 636 245.7 100.6/ 0.2 0.1|#% ™M 0 1,138 - - 0.0 -
& 6 3421 92.8 141.5 0.5 0.4 ERE 1 408 66.5 62.9 0.2 0.3#F #HF 0 231 0.5 39.9 0.0/ 0.5
o0 26 454 62.6/ 139.3 2.1 2.7 Fofh 1 497 41.7 63.7 0.3 0.7 Fofh 0 1,523 8.3 305.4 0.0 0.0
B 3 1,224 381 80.3 130.3/100.0100.0(# 3 385 446 113.1 77.1/100.00100.0| % 3 341 345 93.8 67.5/100.0100.0
= 4 JE—7 1= £ INT U R = 4, LLEDDS L
= A 5 565 62.9 93.9 35.3 11.0]/ & HE 32 ATT - - [ 58.1 - | & # 16/ 1,704 67.3 120.8 90.4| 86.8
" B 4 770 81.5 100.0/ 26.0/ 6.2 =2—v— 13 551 - -] 22.9 - |& H 1 1,285 56.8 123.6 4.2 4.8
B H 2 556 7.9 112.0 11.7 28.7| E 2 806 - - 4.2 - |+ E 1 1,824 33.7 148.0/ 3.9 7.5
T ¥ 1 631 67.2 110.5 7.5 2.2 K % 2 15 - - 4.0 - | E & 0 1,746/ 257.1 100.8 0.6/ 0.2
—a—Y— 1 552 3.4/ 101.1 7.5 43.1| 3% # 2 203 - - 3.7 - | B 0 2,663 90.3 69.7 0.5 0.3
BIRE 1 537 89.9 100.9 5.9 1.3k XK 1 628 - - 1.8 - | & ® 0 1,244 139.4/ 115.5 0.3 0.1
W R 1 504 67.0 110.3 3.8 1.1 F ZE 1 254 - - 1.5 - | % W 0 852 - - 0.2 -
RS 0 788 41.9 107.8 2.1 1.0l & #n 1 581 - - 1.4 -1 B K 0 1,260 6.2/ 96.1 0.0 0.3
2 4 0 656 2.5 495.3 0.2 1.4|A5v% 1 284 - - 1.2 - | M - - - - 0.0/ 0.0
* O 0 315 1.8 47.6/ 0.1 1.0| W 0 333 - - 0.5 -
55 - - - - 0.0 1.4 % #®B 0 638 - - 0.3 -
[T - - - - 0.0/ O0.5|ERE 0 985 - - 0.3 -
Xk} 0 709 - - 0.1 -
B 3 14 622 19.5 115.1/100.00100.0| # 3= 56 479 - - 100.0 - | ¥ 3 18 1,674 64.6 122.9100.0/100.0
= 4 EDI3HABL =] 4 A I 3 = 4, E S5 B A
t B 0 257/1800.0 81.7 82.9 0.5/ 7+4VFEY 7 539 68.5 119.3] 73.1 74.1|# & 6 254 149.5 114.2] 99.7/100.0
WMk 0 210 1.7 52.8 13.8 86.4| % 4« 2 555 58.2 105.3/ 19.6| 23.4| % = 0 336 - - 0.3 -
5y A 0 578 175.0 98.7 3.2 0.2 ERE 0 1.626 - - 4.4 -
Z M0 - - - - 0.0 10.1| ¥ #& 0 1,231 74.0 94.8 2.2 2.1
2O - - - - 0.0 2.5|&®m #H 0 2,405 124.1 81.0 0.7 0.4
it g & - - - - 0.0/ 0.3 A%y - - - - 0.0 0.1
X H - - - - 0.0/ 0.0
G 0 261 10.8 64.9100.0100.0[# 3 10 618 69.4] 124.4100.0100.0(# 3 6 254 150.0 114.3/100.0/100.0
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W AR 9 532 61.0 108.2 72.4 83.1| & 41 0 1,069 176.9 89.2 61.6 43.8| ERE 82 627 98.5 91.9/ 52.8 43.7
280 - 2 529 240.4 99.3/ 15.1 4.4 & 0 698 88.5 121.4 20.5 29.2|## 30 1,005 62.7 112.7 19.6| 25.5
IR E 1 473 65.3 94.4 11.6 12.5| F 0 53 - -1 17.9 - | E H 12 925 103.8 84.5 8.0 6.3
B R 0 567 - - 0.8 BERE - - - - 0.0 27.0| % 4« 8 3100 86.8 76.9 4.9 4.6
E K 7 757 190.8 92.7 4.5 1.9
t B 6 339 574.1 70.6/ 4.1 0.6
| 3 1,309 109.8 80.1 2.3 1.7
T ¥ 2 1,083 314.9 78.4 1.4 0.4
* O 1 776 48.4 84.7 0.4 0.7
& 1 467 24.8 66.9 0.4 1.3
RS 0 706 99.1 80.9 0.2 0.2
s E 0 1,445 264.4 160.6/ 0.2 0.1
o0 2 945 7.1 169.2 1.1 13.1
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W R 30 1,005 62.8/ 112.6/ 78.1 69.6| ERE 12 596 125.1 78.2 30.7 25.2| ERE 9 1,121 121.6/| 92.6/ 58.3 53.9
BERE 3 1,368 104.1 147.3 8.4 4.5|% H 10 904 95.0 83.2 26.7 28.9| % 4« 3 346/ 153.8 67.1 21.3 15.6
E K 3 955 157.7 111.9 7.4 2.6|% H 5 307 641.6/ 68.7 13.2 2.1l % 4 1 1,216 138.0] 96.4 8.8 7.2
T # 1 848 519.6 88.7 2.5 0.3/ & &% 4 617 223.9 79.3 10.8 5.0l% H 1 490 539.8 91.8 6.2 1.3
& 1 449 - - 1.4 -1% 4 4 275 T72.1 T74.4 10.3 14.7|% 1 1,968 120.3 97.0 3.3 3.1
* O 0 700 122.6 118.6/ 1.2 0.5|#% M 2 729 115.1 55.0 5.5 4.9 fMIW 0 2,065 74.6/ 196.7 0.6 0.9
RS 0 626 - - 0.3 -|E B 0 604 452.8 57.0 0.6 O0.1]® = 0 1,608 159.6/ 118.5 0.6/ 0.4
B B 0 914 - - 0.2 - |E B 0 1,940 57.8 114.4 0.5 1.0] 3% I 0 1,145 17.2 106.8 0.5 3.6
B ™M 0 793 - - 0.2 - | R& & 0 765 59.0 87.1 0.5 0.8 & 0 1,103 - - 0.2 -
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